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6. For KCL % = 0.34 x 10~ ergs and p = 0.326 x 10”°A. For the imagined modification of KCI with the
Z0S structure, z =4 and o = 1.638. Then from Eq, (23) with x = R/p we have

&

.53 x 107,

By trial and error we find X = 9.2, orRy=3.00 A. The actual KCI structure has Ry (exp) =3.15 A . For
the imagined strucure the cohesive energy is

Uzﬂ(

units as above. This is about 0.1% lower than calculated for the cubic ZaS structure. It is noteworthy that
the difference is so light.




image2.jpg
CHAPTER 3

2 bec UR)=2Nef9.114(c/R )
U(R,) =2Ne(~2.816).

12.253(/R)°]. At cquilibriom R, =1.488c°, and

fee: U(R)=2Ne[12.132(0/R)? ~14454(c/R)°]. At equiibriom  R,°=1.6790°. and
U(R,) =2Ne(—4.305). Thus the cohesive energy atio bec/fee =
‘more stable than the bec.

956, so that the fec structure is

3. |U|=860Ne
=(8.60)(6.02 x 10%) (50 x 107) = 25.9 x 10° erg/mol
=2.59 kJ/mol.

This will be decreased significantly by quantum corrections, so that i is quite reasonable to find the same
‘melting points for Hy and Ne.




